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2. Ai22H =

SIAHHE 20144

Ol &EXb== 0 S0l &

SIARE W22 B

® NS5 ool A

= & Al = Xl = Al =

& = o= 2| o PSS S el s & S IR HECXEH S
= AH 538,833 482,080 56,753 | & H 538,833 482,080 56,753
S =TI~ 93,780 92,000 1,780 | HI 8 Rt & AF & HI 60,000 60,000 0
2 x 2 0 0 0|8 X4 A HI 0 0 0
Xt 2 = 0 0 0| & 2 4 i 0 0 0
o gz 0 0 0[21 2 & Hl 0 0 0
He=2a23s% 245,116 0 245,116 |01 & 2 245,116 245,116 0
o X =3 % 188,865 377,494 A188.629 (0 X 2 233,717 176,964 56,753
Ol e = 0 0 B EEE = 0 0 0
o X % & 11,072 12,586 A1,514 |02 34 0 0 0
B &Y 0 0 0|21 & X = 0 0 0




SIHAAZ 20144
Ol & Xp == 0 2 0Hl &
SAFRZ  HE22013

@ =2dA=

SREED
T T voy | L5a | 2
20| oH
200 AISI 49l 4,209 4,700 A 491
AEREVEESS 4,209 4,700 £ 491
216 Ol K4 4,209 700 A 491
216-01 R0 20/ X4 4,209 700 A 491
oML QN2 0K
4,209
00 R4S YR 534,624 1380 57,244
710 2R 4 S 188,865 94|  A188,629
714 X284 188,865 494|  A188,629
714-01 O X1 2 8 = 188,865 494|  A188.629
OMUBRIII2 HAS 0|22
188,865
720 Ui of 345,759 886 245,873
721 M= 93,780 ,000 1,780
721-03 I3l H H 2l 2 93,780 ,000 1,780
OMUREIIIE BN S0 93,780
X CEPL B 251,979 886 244,003
720-03 3 TS HSET 245,116 0 245,116
a3 245,116
720-04 O 20| K4 & 6,863 886 A 1,023
6,863
~ g o A 538,833 ,080 56,753




SIHAS 20144
Ol & X2 @ 201l A&
SIAHFE - M2 02
® XN&sA= (el ®e)
RN RS- O - MBAY - BAS X & o 8% | yosa
xI&
oM 2t 2| bt 538,833 482,080 56,753
My - 2rgk e 538,833 482,080 56,753
Mo CHSHMA 25 60,000 60,000 0
THEE ol 23 (22l 2) 60,000 60,000 0
Met2el 2 A 60,000 60,000 0
401 AIEHIZ 20| 60,000 60,000 0
01 Al&H] 60,000 60,000 60,000 0
OZ22H wXEY = 18,000
OME X HAALS = 42,000
MWRES (M2 D) 478,833 422,080 56,753
BEXES(M22I2) 233,717 176,964 56,753
Met2e o2 ol Xl 233,717 176,964 56,753
602 Ol XI 2 233,717 176,964 56,753
01 OIXI2 233,717 233,717 176,964 56,753
Omet2el 30X = 233,717
HEHAHXS(HE22012) 245,116 245,116 0
S22 e 245,116 245,116 0
704 KIEZ 245,116 245,116 0
01 W32 245,116 245,116 245,116 0
Osg&ellla HE = 245,116
Xl £ g A 538,833 482,080 56,753




3. 9 SR
SIHAAZ 20144
Ofl &b Xb== 0 =0l &
SRR W02 chelm el
x o o
Hel=2 =2 ol =1 == A Ol
HE@ M 2 ol Ol Xt %= &
2008 Mt X 657, 530,592 0 126,568
20094 &= 74, 62,000 0 12,563
20109 &= 87, 81,000 0 6,513
20119 &= 84, 84,100 0 552
201249 & 100, 89, 146 0 11,069
20139 &= 104, 92,000 0 12,586
20143 & 104 93,780 0 11,072
Al 1,213 1,032,618 0 180,923




SIHAAZ 20144
Ofl &b Xb== 0 =0l &

AT e 2 CEERFED
g o
. & o
9 == HIEXY | SHEA ezl | HUS2 | =3 = | ®®
H® 2 sz Svm | olmae | IERE
At B oHl (%= | 23aE |23y

20084 DA 303,702 303,702 0 0 0 0 0 353,458
2009 = 0 0 0 0 0 0 0 74,563
201098 & 186,006 186,006 0 0 0 0 0 A98,493
20ME 0 0 0 0 0 0 0 84,652
20129 & 125,000 125,000 0 0 0 0 0 A24,785
20138 = 60,000 60,000 0 0 0 0 0 44,586
20144 = 60,000 60,000 0 0 0 0 0 44,852
Al 734,708 734,708 0 0 0 0 0 478,833




4. Xz & &= A

AAHAZ 20144
Ol & Xp == 0 =0l &F

AT : M2 (o
Ol Xl & Ofl £t
22 |ox(e)H . . .
2012 TUHTHY | 0BHCTLHHU@ | 01U4EETLHYHO £2(0®-0®)

& A 377,494 433,981 478,833 44,852

0l XI 2 | 132,378 188,865 233,717 44,852
=2 132,378 188,865 233,717 44,852

Gl &2 2 H 245,116 245,116 245,116 0
d==2" 245,116 245,116 245,116 0




